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Cunhwinip
Quupduh Qbdwb Al
Sinfwh wrwplub N Lwibwulp ghtt q(mdm‘l;E (phpguilimpap)
i)
1 2 3 4 5 6
CUTUUBLE 4355850,00
Uwynpwbpllkp b ulinily 4022850,00
1.9puukiyulwihb wwypwipikp L ynipkp npwd 100000 UU
pnunp A4 wnnith 3 2000 6000
pounp A4 wnuh 2 2500 5000
wfiwnujupdh dunnjub hunn 1 1000 1000
Jdwpuwl hwbdtwpupughp wnnuh 9 1200 2400
Tpuunhihb wnnuh 10 550 5500
qphy qunhluninp hwuwn 9 100 900
gpuu. ghpp hwwn 1 700 700
Qpuiiply wnith 5 500 2500
Duyy wntth 2 2000 4000
[@Fnpuwuymbul hwwn 2 1000 2000
Stwnp Ukd huwn 3 800 2400
Llwpywlwl wypnd hwn 40 350 14000
Snihuninp prpkp wnnif 6 2500 15000
Unuhbd hunn 20 600 12000
Sphy hunn 30 150 4500
Uwnhun hunn 20 100 2000
Guiphju hwwn 8 250 2000
Undqud wnnith 10 200 2000
Uwnjubitiip hwwn 5 1800 9000
Upny hunn 4 350 1400
Junfwl hwwn 9 300 2700
bindwunkp wunuh 3 1000 3000
npwy

2. Zwunnil) hywinwluyhb wyy ynipkp 102890 Uu
Qmqupwih pnigpe huwn 50 130 6500
Uwppnn thnoh Zuwn 10 370 3700
Udlwl Jutiugne htinniy Zunn 30 470 14100
2niqupwl ywppnn vheng Zun 10 1120 11200
Uujuiyyne htnniy Zwwn 10 760 7600
wbdlinnghl Zunn 20 210 4200
Atinling qnujq 40 250 10000
Odwn htinnil Zunn 2 2800 5600
Uyuhh pubynt jupe Zun 15] 810 12150
Zunnulh luinp Zuwn 15 390 5850
Uafy Zunn 12 920 11040




npwad

L TEnnpuyp b Jhpwlwyuwyhl ynipkp 1 1 8000 UU
Yhkgunujht b hwhpught umu}])h]mphp = :
<hdbwlywl ulblbnwdpbnp/dnnuwluwl gnidunpibnpg nnwa 1 3080980
Ywnunlp lig 150 150 22500 74
Unju giniju g 30 300 9000 S V4
Quiguin iq 30 260 7800 az
Jwnnilig liq 100 250 25000 Qz
Jownp Jubiash ljurty 100 250 25000 Q2
Fuigniy liq 20 400 8000 Q2
Loghly g 100 250 25000 Q2
Quwmnndhy g 220 210 46200 Q2
Uddparl g 50 300 15000 a2
NMnuykn Jwhws puingn Ug 50 350 17500 74
Swiyjwph pu 7-pn Jupgh g 80 3800 304000 QZ
Swiwuph thu 2-pn Lupgh Ug 15 3400 51000 Q2
2ufh fpdpundhu 1-hl huipgh lig 76 1850 140600 9z
. g 16 1500 24000 Q2
2uryfh §pdpunipu 2-pl hupgh g 16 1400 22400 Qz
Uup wwhwén wnnith 110 750 82500 Q2
2n1 huin 1140 85 96900 Q2
Ohpwl lig 30 350 10500 574
2kpd liq 30 400 12000 Q2
Uwynp lig 30 300 9000 G2
Iviidnp g 50 350 17500 Q2
Uwitiguphl g 100 350 35000 Qz
Junlhy lig 30 1800 54000 G2
Ywp hnnwgpwd pwpupny nnuh 120 450 54000 Q2
Ppyuubp 20% nni 140 1600 224000 a2z
Yuip wwunkpugyud 1hwp 220 500 110000 Q2
Ywplbuonn pupdn mniguybingppal untth 120 550 66000 2
Twlihp Ig 15 2400 36000 Q2
Yuwpuig ubpnigpuyhls lig 44 4500 198000 Q2
8nrn huywd lig 59 2300 135700 Q2
niy pninwlul 1hwip 60 750 45000 2
Zhnlhwdwun g 120 550 66000 Q2
npid g 54 500 27000 Q2
Quipbduruin lig 48 430 20640 Q2
[lnn g 72 380 27360 Q2
Nuy liq 72 700 50400 74
Uynip g 100 250 25000 Q2
Uwiljupni g 180 380 68400 Q2
Lhpulpoly g 180 380 68400 Q2
Qunjuip g 20 400 8000 92
Cwpwnuyug g 128 410 52480 Q2
Ywpunlly lig 90 1600 144000 Q2
1FpaJuidpuiprhp lig 120 1100 132000 Q2
135y snp nnuh 40 350 14000 %2
Quwlun ook wnuh 40 2500 100000 Q2
U jnpuigyud g 80 200 16000 Qz
Unugué wnwkn g 6 2200 13200 Q2
undunp dwdnely g 14 1100 15400 Q2
Cnlnpunuuunn §nbplnbkn lig 100 2200 220000 G2




alipuyhl unguw unuth 8 250 2000 Q2
Ullnwipknp/pwnwpwwbunwpwih Ynnidhg tnpynn/ 730980
Zwg huwn 1710 366 625860 Q7
Zwgupny Enkh hwun 480 117 56160 Q2
Uwbdnih pupdp jmuyujbinipjuh 1hwip 144 340 48960 Qz
Owrnwjnipjnihiibp 333000
k1. Eiipghw 1 1 123000 Uu
Jwnkihp 1 1 150000 Ul
Yy 1 1 60000 Ul
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